FTR2FEF2EAMARRFERET R

A Fr23FE6A11B (L) ~128(R)
=15 MATILERT=Xa—k
BFERRE)—T
2B i 1 2 | 3 | 4 |BBBER|IEfL
1 |TH REZ |F=ra=n—x) 84 | 97 | 48 [ 2-1| 2
2 [|Y) Bz |BKE) 48 97 | 28 [1-2| 3
3 fEAK & |(RREXD) 79 | 79 85 [ 1-2| 4
4 |RE R (ET=2ALvyY| 84 | 82 | 58 2-1 [ 1
TFHRE)—T
2B i 1 2 | 3| 4| 5 | 6 |MBER|IEGL
1 |%h £8  |sc 82 | 82| 80 | 81 | 81 | 5-0| 1
2 |[tm B2 |REEXR 28 58 | 80 | 28 [ 79 | 1-4| 5
3 [ mE |EEAR 28 | 85 80 | 58 | 28 | 2-3| 4
4 |BR Bus |MERIKE 08 | 08 | 08 18| 08 |0-5| 6
5 [15m %  |Etk® 18 | 82 | 85 | 81 68 | 3-2| 3




FiE—T A

1 &4
2 2H
3 1Y)
4 B
5 ¥rh

6 AiE

7 #&:8

13 iI#%

14 {£ik

15 SRIREEAER

16 P9/

17 BH#
18 XKiE
19 JIIIR
20 JIl

21 ER

B

5

H#18A

@
Tt

o}
Bt

S

22 ERK &

~

vk

(TEAM C)

3
(WEFT=RHFD) 3 W. 0
(AKE) —1 80
(TDK)
4
(sc) 82
(ET AN YD ey 6
(MKE) — 84
7
(1) — w0
(FZRA=Z/N\—R)
7 9
(TEAM C) 86
(F=Z=R1=/\—R) '
7 ’ 11
(ZERTIUTILT 82
=) 13
(TEAM C) —1 83
(ZIMA@ BB #&
& .com) 15
85
(R KIEHLR) —
15
(JREABAZR) 83
(B XEZEER)
BRIEZER 18
97
(IEXEZEKXZE) —
_ . 50
WEF=RHST) ——
( T=RYZ7) RET
(TEAM C) —_—
21
97
(sc) e
22
(RFEEKE) | 84

81

83

11
82

22
81

Q1

Q2

Q3

Q4



